DiffEq - Ch S - Required Practice ANSWERS ONLY
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k=320%, f=—=0318 Y /%C

x(1)= —%cos(\/%t)

T= ~(0.555 sec

x(1) :%cos(2t)+%sin(2t)

| | |
(a)t:Zsec, (b)tzasec, (c)e—zz0.1353ﬁ
1 5
t)=5te™"®, (b) t =—=~0.35355sec, e ~0.6503 fi
(a) x(t)=5te™, (b) - sec, (c) 5 fi
(a) x(l):ge_zt—%e_gt, (b) x(t)=—2e™ 1 2™
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(a) x(r)=—e cos(4) —%e‘zt sin(4r), (b) x(1)=e™ {TSin(4t+ 4.2487)}, ()£ =1.294 sec
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5 t —3\/Ee n Tt +?cos(3t)+?sin(3t)

#10. (a) q(t) =—10e™ cos (3t) ~10e™ sin(3t)+ 10, (b) 10e™” +10~10.432 Coulombs

150 .

411, (a) qmdySmw(t)=—cos(t)+%sin(t), (b)imdySmte(t)=——sm(t)+%cos(t)



